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1) ffid vqn ftrGdefr dqqr ftrdr.
B x 1000 + 5 x 100 + 7 x 10,000 + 5 x 10

1) 87,550 2) 87,505 3) 78,550 4) 78,505

z) 03412 rn dda ffi qrdt s{rAa e
1)A4 2\34 3) 634 4) 12

3) srtvilqr fiut ffi ?

1) 3i-Sq z)qradqr< 3) sff#q 4) d-T

4\ rrFT 6fiK *q + qK FTr< rcF + dH* qr&s = ?

1,) 10,336 2) 10,363 3) 11 ,366 4) 11 ,603

5) 116r ftR R&q 11ffi rsKsfi 3iff{ffi{ o.tErc{rrs flrfur
ertr6 Towrfi difi ffi ?

1)45 +S. 2) so +S. 3) 65 +ff. 4) 60 €*.
6) 11 qr{q 26 q'da rrq riqqr ffi I

1)6 2)7 3)e 4)8

7) 7 +7 +7 +7 +7 fr tsr Wrrofirqr Frcqrf, ftrdr.
1\7x5 2)7x7 .3)35 4)77777

8) 50-4 x7+22 = ?
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1) 16 €ff. 2) 8 €fr. 3)

14) gfrr*61 sqfud 3TrE--S 6ffi ?

4) 64 +s.
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15) u6r E@ ftrr 7SS. s{rt il{ ars ffi a
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1) 2BF. 2) 25v.. 3) 27 F. 4)27 F. 50 q€
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rr< * dqsr vilqr.*
1) 160 2) 164 3) 64 4)40

20) 1oo ftfrcid ensr d ftfurd wir< o<r.
1)2are 50fr. 2)3drs 0fr. 3)2ars 40fr. 4) 1 ene 90ft.

21) lX + Xl = ?
1) XX 2) Xlt 3) XXil 4) ilXX

22) 19x8=?
1) 162 2) 152 3) 172 4) 144

23) 15 * fr drwr Eqriqr ftFalur rqdrr o.oq Fr6r

1) 15.e 2) 15.0e 3) 1 .59 4) 0.15e
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1) 10 Erw 20 fr. 4 11El{q 20 fr.
3) 10 Erdq 25 fr. 4) 11 orqr 25 fr.

25) RoTRrr drrfr Eilrq Fqio. ftTrr.
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26) 12543-e012=n

1)3551 2)3515 3) 3531 4) 3501

27) TAf, o{rq>-fu qilTli d'"nt aTg.6tq, iDrem}q, ffi ffi a

1) 3,2,2 2) 2,3,2 3) 2,2, 3 4) 3, 3, 1
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1) ts BC 2) tq nnru
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1)6 x 10000 +7 x100 + 9 x 10 + 4 x 1
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45) 627 + 383 + 415 = .........2
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